2018 Term 2/

SST Solve-A-Problem — Junior

Put in the numbers so the story makes sense.

v

Jason is younger than Rose.

Rose is years old.

Jason is years old.

SST Solve-A-Droblem — Al

Three children saved up their pocket money. Sam saved €14, Molly saved the
number that comes after €14 and James saved the number that comes before

€14. Who saved the most money??
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SST SCOLVE APLROBLEM —CHALLENCGE

The serial number of my phone is a 4 digit number less than 5000
and uses the digits 3 ,4, 6, and 9.

The 4 is next to the 9, the 3 is not next to the 4 and the 6 is not
next to the 3.

What is the number ?7??




